EARAROBEEIERT — 2 N— IBISH —F

20185F6H8H (&) 5EAFH5H

RS> %—fk C3—Z

(xwlw | mEmml - |5 5 o s

[A~&£] 17 :800,000  ~ 23&:320,000H ~ 33 :200,000H ~ 43:120,000 ™ 5 & :80,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
7 | #EAdIsE 1:14.4 4-4 2 - 2 10 |BEENERS (k)
i lglip E—L7E-—L TES % * o | ) it
L:Tv AT Ly h— B:YLLATL—Ib puit e ]
o e BB 114, = . — TEILBETE (/NK)
olglig| 71K E—2— i 5 i} 1(124)8 2-3 38.7 3 (4+872) o
L:74NWVKTy>a B:Fdy KR—2— EBRT7—L
= LA LS 2 6 | BEK 1:14.9 8-8 37.7| — 8 483 | IBE=RE (KH)
dl > PIEAR A A 77 560 (3/4) © TEOE— 8
RIYNRATA—h— B:T7HEeFAILT B —
IRH TS :15. - . — hEEZ (KH)
4 P& DPT D H o4 e 1(11/52)0 1-1 39.0 5 (4:323; mlﬁﬁg:
L:hrnN=— B:IT7wLF-F B (ER
. KEHEZ :15. ~ . - SR (K3)
5111 |¥7E8X71-> it 6 5.0 1(3,1/54)2 66 %2 ‘ :1:323) /_JL\%E
R:Tw dRyy b BiDkyO—% R sk
B BHEZ :15. - . - SRR (KFH)
6155 g9 )14 R 4 4 7 1(31/54)3 525 38.6 6 (5+214) e
R:TIVHAZAIL R B:5—Y—NyE— [xse]
. PEAE : — - TeILBETE (/)\HE)
715l VA—ETTUY K 7 o 1(.11/52.>4 3-2 39.3 1 (433) el
LTANRTy Y2 BT7HAFESD JaA—77—1
3 o7 | IEOBE 1:15.6 9-9 38.4| — 7 513 | Wiz (K3)
N . BEEPIICED 5.0 R Oy | TEOS—
R:T74—F14FAF—IH> B:v—TNI—7 HRHT 77— L4
N R > el F A :15. - . — SiEEE (KHF)
9 4 FTIL—=) G k=2 t> 6 56.0 1(31/54)8 -7 38.8 9 (4_718) gqg{;$
L:7V>FFELTe BTIN-UZTTU R (B) HBEa-KL—-—ra>aEI7
- — —— 1R, B 2| — BRI (K3H)
10 8 FA Ty TRy R 4 4 Asﬁ) (11 116/40) 11-10 38.2 11 (4+533) e
L:Tw TRy b BT7A50 0 H— Eliztve]
N —: LTI : - — HiBEZ (KH)
179 | Tz ET)=FT> I 1'(187)'6 108 10 :?g) *’A‘Kl}ﬁ‘}’a
R:VZRABZ—-IZR&%— B:J-FhvE-2 ful e ]
g a3 B 4 | ANEH 1:17.7 12-12 [39.3| — 12 438 | BEEEH (KH)
12[¢ 10| AF YA TN~ 54.0 (172) oy |FHEA
R:hTIRSA4Y B/ -2 T — BiHis
® I —F—EBIERL
13—7—
23—7F—
G§a=7r= 7,11,6,12,5,1,4,2,3,9,8,10
41—+ — 7,6,11,12,5,1,4,2,3,8,9,10
[ RN
B OB 12 510M 714K 11-12 570M e & 8-8 1,000M &R 2-11-12 7,400
7 B 12 220 2-12 1,340 | | # B 8-8 1,380 | | 3=E | 12-11-2 30,550
1" 350M 2-11 2,070MH B E 11-12 1,510/
2 620M B H 12-11 2,630M

ABICOVWTRDTEEERROODE. TR LIV,




